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Section A: Multiple Choice Questions [56 marks]

1. ‘Which of the following statements about how living things obtain energy are correct?
A Fungi can make their own food to obtain energy.
B Plant-eaters obtain energy by eating other plants.
C Plants make use of the food that they made for energy.
3] Plant-and-animal eaters obtain their energy only directly from plants.
(N A and C only (2) B and C only
(3) B and D only {4) A, Cand D only
2. Alicia prepared the set-up in the morning as shown below. She then placed it in an open field
for 24 hours.
\\

: clear plastic sheet
water plant

beaker of water

At every six-hour interval, she tested a sample of the water from the beaker by adding liquid A
to it

Liguid A causes a colour change in the water as shown below.

Amount of carbon dioxide in the water low high

Colour of water with liquid A yellow red

What would be the colour observed when Alicia tested water samples taken at noon and at

midnight?

At noon At midnight
{1) red red
@ red yeliow
(3) yellow yellow
(4y yellow red
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Bryan set up an experiment as shown below. He repeated the same experiment several times,

each with a different distance of light source from the plant, d.

lamp
I —pgas

inverted
glass jar

The results from the experiment were used to plot the graph below.

Volume of gas
collected (cm?)

F 3

» d(cm)

Which one of the following statements correctly states the aim of his experiment?

(1)
(2)
(3)
(4)

To find out if light is required for photosynthesis.
To find out if oxygen is released during photosynthesis.
To find out how light intensity affects the rate of photosynthesis.

To find out how the volume of gas collected affects the rate of
photosynthesis.

Which one of the following represents a single population?

0
(@)
(3)
(4)

All the differentplants found in a field.

All the birds counted in one day in a garden,

All the organisms living in the pond.

All the bacteria of the same kind found in yoghurt.
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The table below shows the conditions of four different habitats, A, B, C and D.

Condition Habitat
A B C D
Light dim bright dim bright
Temperature high low low high
Moisture in the surroundings none low. moderate none
| Presence of dead matter plenty lithe | plenty | itlle

BP-~248

Elyse found organism X in one of the habitats. She observed it and recorded the
characteristics of the organism as shown below.

» |tfeeds on dead matter,

» |t can move easily in the dark.
« it breathes through its moist skin.

In which one of the habitats was organism X most likely to be found?

(1Y A
(2 B
3 ¢
4 D
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6.

BP-~249

The graph below shows the population size of three different organisms, W, X and Y, at
different water depths.

As the depth of a pond increases, the amount of light that passes through the water decreases.

Population size
A

4

Depth of water

Which organism(s) survive(s) better when there is less light?

(1) X only

(2) W and X only
(3) W and Y only
(4) XandYonly

In the food web shown below, which organism is most likely a plant?
A
C >b

(1 A 2y B
& C 4 D
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8.

/ -graééhd_bper : > frog > snake
plant - >l mouse
rabbit > hawk

Based on the food web above, which organisms are both predators as well as prey?

(1)  frogonly {2} frog and shake only
3 hawk and snake only (4) grasshopper, mouse and rabbit only

The diagram below shows a food web,

lizard .
spider

' f _ _ whlteﬁy
aphid snail

|~

Based only on the information above, which of the following correctly explains what might
happen within a short time if the population of the spiders greatly decreased suddenly?

plant

A The population of whiteflies would decrease as there is one less predator.

B The population of birds would increase-as there is one less prey 1o feed on,

Cc The population of lizards would be affected more than the population of birds
because the lizards have less food sources.

&3] Aonly {2) C only
® B and C only (4) A, Band C
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The food relationship between five organisms is shown in the food chain below.
V ——p WT iy X ey ey 7

If organism X is removed from the food chain, which one of the following graphs cormrectly
shows the changes in the other populations?

() Number of organisms
A

2 ' -
@ Number of organisms 1 'Me
F 3

—

N< <35

—
S+
(03

(8} Nurmber of organisms
A

(4) Number of organisms

a

i
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11.  Which of the following statements about water is correct?

A There is no heat gain or loss when water boils at 100°C.
B The melting point and freezing point of pure water is the same.
¢ Water vapour can condense when it comes into contact with a cooler surface.
D Water can change from one state to another when it gains or loses heat.
(1) AandBonly (2 AandConly
(3 CandDonly (4} B, Cand D only

12.  The graph below shows the changes in the amount of water left in the container shown below
over a period of time.

| container
e — water

Rate of evaporation

A

Period | Period |  Period | Period | _

A B C 5 » Time (hour)

Which one of the following statements is a possible explanation for the change in the rate of
evaporation of the water in the container?

Period | Change in rate Explanation
of evaporation

N A increased There was the most amount of water at
the start.

(2) B increased There was an increase in the temperature
of the surrounding air around the
container.

(3) C decreased There was a decrease in the exposed

8 surface area of water in the container.

4) D remained All the water in the container had

constant completely evaporated.
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13.

14,

The table below shows the characteristics of three different flowers, A, Band C,

Flowers
Characteristics A B C
Daes it produce nectar? Yes No Yes
Does it have brighily coloured and large petals? No Yes Yes
Doess it have stigma and anthers dangling outside No Yes .{ No
the flower? R

Based on the information above, which of the following flower(s) is/are most likely polfinated
by wind?

4! B only (2) Aand Conly
(3} B and C only {4) A, BandC

Yumi placed three seeds of the same type in two identical beakers. Each beaker was put
under a different set of conditions as shown below.

0°C, with light 25°C, without light
seed moist seed moist
cotton cotion
Beaker X Beaker Y

Which of the following are correct?

Beaker Observation of Explanation

‘ seeds
A X germinated There was light, oxygen and water.
B X did not germinate There was no warmth.
Cc Y germinated There was warmth, oxygen and water,
D Y did not germinate There was no light.

{1) AandConly (2) AandDonly

(3) B and C only 4) Band Donly

Page 9 of 20
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15.

16.

Compare the characteristics of a fish and a plant as shown in the table below.

Fish Plant
A | Takes in dissolved oxygen in Does not need oxygen
water _ _ . _
B | Has blood vessels to transport Has tubes to transport food and
digested food and water water _
C | Has gills for gaseous exchange Has tiny openings on leaves for
gaseous exchange

Which of the above comparisons are true?

(v
3

A and B-only
B and Conly

(2} Aand Conly
L)) A BandC

BP-~254

Dylan set up the following apparatus with the same amount of limewater poured into identical

glass tubes, X and Y. Limewater turns cloudy after coming into contact with carbon dioxide.

Air blowri in

!

H =t

glass tube X

limewater

tube A

oo —  fimewater

glass tube Y

Air was being blown into tube A continuously for 16 seconds.

Which one of the following describes Dylan’s most likely observation?

(N
(2)
(3)
(4)

The limewater in X and Y remained clear.

Only the limewater in X tumed cloudy.

The limewater in Y turnad cloudy faster than X.

The fimewaterin X and Y turned cloudy at the same time.
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17.

The diagram below represents the human digestive system.

Which of the following correct!
it leaves parts A, B, C and D?

(1
(2)
(3)
(4)

y shows the changes in the amount of undigested food when

Part A Part B Part C Part D
decreasesv 10 change decreases decreases
increases no change increases increases
decreases decreases decreases no change
increases no change no change decreases

Page 11 of 20
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18.

The table below shows the characteristics of plants P and Q. A tick (+) shows that the plant

has the characteristic stated.

| Aquatic

Characteristic. Plant P Plant Q
Has spores v '
Grows on land v
Study the classification chart below.
Plants
i
[ [
Bear fruits Do not bear fruits
1 |
| |
Non-aquatic Aquatic Non-aquatic
A B Cc D

Based on the information above, which letters best represent plants P and Q?

(1)
(2)
3
(4)

Plant P | PlantQ
A D
B c
C B
D A

Page 12 of 20
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19.  Ahmad, Brandon, Claire and Damen placed four identical metal cubes, P, Q, R and S, in
different positions as shown in the diagram below. Cubes P and R were hung from a ceiling
using wires while cubes Q and S were piaced on wooden poles of the same height.

ceiling-

wooden
pole

80 om 4

80 cm
ground

ANMANRRRRR P

Which of the following statements made by the four puplils are true about the amount of
gravitational potential energy that the four cubes have?

Ahmad | Cube P and cube Q possess same amounts of gravitational
potential energy.

Brandon | Cube P possesses a greater amount of gravitational potential
energy than cube R.

Claire Cube R possesses a greater amount of gravitational potential
energy than cube S

Darren | Cubes Q and S possess the same amount of
gravitational potential energy.

(1) Ahmad and Brandon only (2) Ahmad and Claire only
(3) Brandon and Darren only (4) Claire and Darren only

Page 13 of 20
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20.

BP-258

June set up an experiment to find out how the speed of a ball afiects the distance moved by

an-empty box.

', empty box
[ @ﬁ% distance moveg; by the box

The ball rolled from point X and hit the empty box. The distance moved by the empty box was
measured and recorded in the table shown below.
The experiment was repeated, changing only the speed of the ball each fime.

Speed of ball (cm/s}) Distance moved by the box {cm)
16 5
20 8
25 13
30 18

Based on the experiment abave,-which one of the following conclusions is correct?

(1) The kinefic energy of the ball increases when its speed decreases.

(2) The distance moved by the box will increase if a ball of bigger mass is
used.

(3) The distance moved by the box wilkdecrease when the speed of the

ball decreases.

(4} The chemical potential energy of the ball is converted into kinetic
energy of the box when it hits the box.
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21.  Study the graph below.

Amount of
energy (units) Gravitational
4 .»~" potential energy

Kinetic
energy

.
|

Time (8)

Which of the following actions would show the same energy conversions as the graph above?

{1} Apple falling from a tree.

{2) Throwing a ball upwards.

(3) Dropping a coin into a pool.

(4) Rolling a marble across a table.
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22, Priscilla used a solar-powered toy flower to carry out an experiment as described in the
table below.

Set-up of experiment movement of flower

| Step : Procedure

1 | Place a lamp about 5 cm away from the toy flower.

2 | Turn on the lamp and observe the number of rounds that the foy flower makes. In
each round, the flower moves from A to B then back fo A.

3 | Record the number of rounds the toy flower moves in 5 minutes.

4 | Repeat steps 1, 2 and 3 by placing the lamp at the 10 cm mark and 15 ¢cm mark of
the ruler.

Priscilla wrote the following changed varlables and conclusions for the experiment.

Changed variable - Congclusion
A | Distance of lamp from toy flower The nearer the lamp to the toy flower,
_ the faster the toy moved.

B | Distance of lamp from toy flower When there is more electrical energy of
the toy, the light is further away from the
toy flower. _

C | Intensiy of light Light intensity has no effect on the

' amount of electrical energy produced.

D | Intensity of light The greater the light intensity, the
greater the amount of electrical energy
the toy has.

Which of the statements are possible changed variables and conclusions for her
experiment?

(1) AandDonly (2 B and C only

(3) B, Cand Donly (4) A B CandD
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23.

24,

Which of the following is not an example of an effect of a force?

(1)  aboydropping a ball

(2)  agirl inflating a balloon

(3)  awall stopping an arrow
{(4) a roof blocking the sunlight

Charles conducted an experiment as shown below. He hooked a spring balance onto a shoe
and pulled it along the same distance on 4 different surfaces, T, U, V and W, as shown in the
diagram below.

shoe spring balance

direction of pul

/

surface

The amount of ferce needed to pull the shoe across the different surfaces is shown in the table
below.

Type of surface Amount of force needed (units)
T 18
U 11
v 9
w 15

Based on the information above, on which one of the surfaces is Charles most likely to slip
and fall?

(y T
2 U
(3 V
(4) W

Page 17 of 20
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25.

BP-~262 .

The diagram below shows the path of light that enabled Alex to see a ball while playing soccer

at the field.

D

\

=

Based on the diagram above, what could D, E and F represent?

(M

(2)

(3)

(4)

D E F
Ball Sun ~ Alex
Alex Ball Sun

8un Alex Ball
Sun Ball Alex
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26.  The diagram below shows the layout of a stage for a shadow performance from the top view.

light source T
from the back / | (’_ - ey \

L) !\ /z — positions of actors
N -
gy S /
I\. / l,‘ j~“I {\ ’
stage -~ et
P -
‘) 2
v’ { 1
\.- -’I

\ screen
audience /

seats N X ‘

There were four actors, A, B, C and D, who were of similar height. The person seated at X
saw the shadows of the actors on the screen as shown below.

2

shadow shadow shadow shadow
of A of B of C of D

Which of the following shows the most likely positions of the actors on stage?

(1) (2)
/ L't"\‘ N ]\ f Er"'\ 7N ! \

1B}
1 1
- ~ AN (\f\‘ 7 («..,,,'
-~ . "y -
. & Y (D}
oy
s, - -

D% Y 7N /o

’ 7 { )} C1

Ty Sy 4 /

o it L _)

- L
(3}/1_ _1\(4)/‘/_\

s
[ ¥
"ls...} w-...—ll ("" k"'l
Pl N /‘-\1 ant.Y Y
Dy o X B { )
{h 4 {\B."} {s.&, {..—- (\_’/ ~’
- N 77
7SN 2N 1 i
t { A,l (*'-p-\'( ‘...,_,}
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27.  Grace wanted to buy a chair. She placed her hands on each of the seat below and observed
that her hands felt cooler when they were on the marbie chair compared to the chair made of

cioth.

marble

Which of the following is the correct explanation for Grace’s observation?

(1)  More heat fravelled from the marble seat to the surrounding.
{2)  More heat travelled from her hands to the marble than to the cloth seat.
(3)  More heat travelled from the cloth to her hands as it is a better conductor of heat.
{4  More heat travelled from the marble to her hands as it is a poor
conductor of heat.

28. Arturo poured different amounts of water at different temperaturss into each of the 3 identical
beakers, P, Q and R, as shown in the diagram below. He then placed an ice cube of the same

size into each beaker at the same time.

Beaker P Beaker Q Beaker R
100 ml 50 mi 100 mi
10°C a80°C 80°C

Arturo measured the time taken for the whole ice cube to melt completely in the water.
Arrange the beakers in order of the amount of time taken to melt the whole ice cube, starting
with the shortest amount of time.

"Shortest time ——» Longest time
) P Q R
{2) Q R P
{3) R P Q
(4 R a_ P
~ END OF BOOKLET A~
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Section B: Open-Ended Questions {44 marks]

29.

A plant grows in the desert and has white flowers that are visited only by a type of
moth. The moth brings along pollen when it visiis the flower. It then lays its eggs in the
ovary of the flower which contains hundreds of ovules, When the eggs hatch, the young
feed on a smalt portion of the seeds.

(a) Describe how the plant and the moth benefit from their interactions. (2]

i Benefit for the plant:

(i) Benefit for the moth:

It is observed that the moth will leave a scent on the flower after it
has laid Hs eggs. After that, no other moths will lay its eggs in the
same flower.

(b)  How does this interaction between the moth and the flower affect other moths
of the same type? 1]

Page 2 of 15
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30.  Study the following food chains carefully. They show the food relationships of
organisrms living in one habitat.

* Plant > squirrel & python
* Plant -> caterpillar = toad > python
* Plant 2 millipede > centipede - toad - python

(a)  Construct one food web in the space provided based on the 3 food chains
above. (2]

plant

(b) How would the squirre! population be affected immediately and after a period
oftime if the number of pythons were to decrease? Explain your answer. i2]

(i} Immediate effect:

(ii) After soms time:
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31.  The diagram below shows a beaker of water left under the sun for a day. The amount
of water became less after a day.

' beaker
after a day

y

——  water

(a) State the process which had caused the decrease in the water level. 1

The diagram below shows a mist system which is used to water the plants in an indoor
garden. Tiny water droplets are produced in the form of mist. The system also lowers
the temperature of the surrounding air in the indoor garden.

(b) Explain how such a system can help to lower the femperature of the
surrounding air on hot days. 2]
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32.

Mr Koh placed five identical fruits, A, B, C, D and E, in rooms of different temperatures
and measured the time taken for each fruit to split. The results of his experiment are
shown below.

Temperature {°C}
20 25 30 35 40
Fruit A B o D E
Time taken to Did not
split (hrs) split 24 10 5 1

(a) Based on the results above, state the relationship between the temperature
and the time taken for the fruit to split. 1

(b)  Give arsason why Mr Koh used identical fruits in the experiment. (1]

Mr Koh observed that Fruit E split with the greatest force and dispersed the seeds the
furthest away.

(c) State an advantage of dispersing the seeds far away from the parént plant. [1]

(d)  State one characteristic of a fruit that disperses its seeds by splitting. [1]
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33.  Figure 1 below shows the cut-section of a stem and insect A feeding on'it. This insect
inserts its long and pointed mouthpart into the stem to obtain nutrition.

long and pointed
mouthpart

insect A

stem

Figure 1

(a)  State the part in the stem of the plant which insect A obtains its nutrition from.
{1

While obtaining its nutrition, insect A is known to inject a harmful liquid into the stem of
the plant, Figure 2 below shows the leaf of the plant tuming white after being infested
by insect A.

affected parts &
of leaf fumed
while

unaffected parts of
green leaf

Figure 2

(b)  Based on figure 2, state which part of the leaf cell was damaged by the liquid
to cause the change from green to white. 1]

(c) Explain how the plant might eventually die if it continues to be infested by
insect A. (1]
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34, The diagram below shows Peifen wearing her heart rate sensor while she is jogging.
The sensor detects her heart rate and sends the data to her mobile phone.

heart rate
sensor

—___ heart rate sent
to mobile phone

Her heart rate during her 30-minute jog is shown in the graph below.

F 3

140

120 g
;‘E 100 /
5 8o S
o il
® 60 e
+ 40
g 20

0 >
5 10 16 20 25 30
Time (min}
(@)  State the function of the heartin the circulatory system. (1]

(b) Describe the change in her heart rate and explain why it has to change with
time during exercise as shown in the graph above. [2]
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35. Qi Qitried to draw a cell as shown below but she missed drawing one part of the cell.

nucleus chioroplast

cell'membrane

vacuocle
\J

*  cytoplasm

(a) Draw the missing part of the cell for her and label i. 1]

(b) State 2 other characteristics of the cell above that enables Qi Qi to identify and

draw the missing part in (a). (1
(c)  State the function of the nucleus. [1]
Page 8 of 15
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36.  The diagram below shows a patient who was not able to chew after a jaw surgery. A
plastic tube was inserted through the nose and gullet into the stomach directly.
Nutritionat drinks, that stil needed to be digested, were then poured through the
opening of the tube into the stomach once every few hours.

nose
plastic feeding tube

guilet

stomach

(a) In the diagram above, puf a cross (X) at the part of the human digestive system
where the digestion of food was skipped in this method of feeding. [11

(b} Explain how the patient was still able to obtain his nutrients using this method
of feeding. 2]
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37.

Muthu made a toy car as shown in diagram 1 below. He wanted to find out how the
distance the car is pulled backwards affects the distance it travels forwards after being

released.

The car has to be pulled backwards before being released in order for it to move forward,
as shown in diagram 2 below.

car being pulled backwards
whesl before being released

>
[ZZ::%E:] ] 1

7

et

=
B colled
|

rubber
rubbet band
N band
N
Diagram 1 Diagram 2
(Top view of toy car) {Top view of foy car)

(a)  State a hypothesis on how the distance the car is pulled backwards affects the
distance travelled by the car after being released. M

{b} Fill in the boxes below to show the main energy conversion taking place in the

car as Muthu moves the car backwards before releasing it. [
Coiled rubber band Moving car
————— - |
energy energy
{c) Explain, in terms of energy, why the car stopped after some time. |
Page 10 of 15

BP-274



Muthu moved the car backwards, released it and measured the distance the car
travelled from the point of release, as shown in the table below.,

Distance the car was moved backwards | Distance the car moved forwards
before being released (cm) from the point of release (cm)
10 ) 8
20 T 13
30 X
40 19
50 0

{(d}  Suggesta possible value for X’ when the car was pulled backwards a distance
of 30 cm before being released. [1]

(e} Explain why the distance that the car moved forward after being released
became O cm when the distance it was moved backwards before being

released was 50 cm. [1]
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38. (a) What is a force? {11

Joe set up an experiment with a coil of spring attached to the table, a ramp, a wooden
block and a toy train. The original length of the spring is 10 cm.

foy train
. 1 ramp
spring o o0
attached AL
to table SNE —————— wooden block
R table

Joe compressed the spring to different lengths, released it and measured the distance
the toy train moved up the ramp just before it sfid backwards down the ramp.

The results were shown in the table below.

Length of compressed Distance toy train moved
spring {(cm) up the ramp (cm)
B 4
6 7
4 9
2 10

{b) What is the relationship. between the length of the compressed spring and the
distarice the toy train moved up the ramp? ‘ [1]

{c) Joe applied a layer of lubricant on the surface of the ramp o increase the
distance the toy train moves up the ramp. Explain, in terms of forces, how this
method works. [1]
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The diagram below shows a pinball game machine. A ball in the slot is launched into
the game after the player pulls and releases the handle that is attached o a spring.
The surface of the game machine is covered by a clear, plastic cover.

{d) Based on the results from the experiment, what should Joe do to launch the

ball so that it will reach point B instead of point A? Explain your answer in terms
of forces. (2]
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39.  The set-up below uses a light sensor to count the number of identical object X on a

moving belt.
%—light sensor connected to a counter

moving belt

light source

The belt moves at a constant speed. When an object X is between the light source and
sensor, it blocks the light from reaching the sensor. The data recorded is shown in the

graph below.
A

W

—_
!

Brightness (unit)
N
1

8 S
”
0 2 4 B8 8 10 12 14 16 18 Time(s)

(3) Based on the graph, how much light is given out by the light source? 1

(b)  Which property of light is being demonstrated by the set-up above? 1

Obiject Y is made of a material that allows most light to pass through.

(c) Can this set-up be used to count the number of object Y7 Explain your
answer. [2]

BP-278
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40. At the start of an experiment, Sharon placed 2 steel pots of different widths, X and Y,
on identical hot plates as shown in the diagram below. She then poured the same
amount of water, at the same temperature, into each pot and turned on ths hot plates.

steel pots
with lid

M

hot plates

—

After 5 minutes, the water in one of the pots started boiling first.

(a)  Inwhichpot, XorY, did the water start boiling first? Explain your answer. [2]

At a party, Sharon placed some bottled drinks into a container filled with ice cubes as
shown in Figure 1. However, she realised that the bottled drinks took a long time to
chill. Sharon’s friend suggested that she added some water into the container of ice as
shown in Figure 2.

bottles of water -

ot e

ice cubes —

container
Figure 1 Figure 2

{b}  Explain how adding water into the container of ice would help to chill the bottled
drinks faster. 2

~ END OF BOOKLET B ~
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Acceptable Answers

28ai

The moth polinates e flower of the plant,

S0an

The moth's young would have food when I hatches./ The young would have a place 1o grow/The |

young or eggs would have shelfer/ protaction,

28b

Other rmoths would have Tess place fo Jay. their eggs/ Oler moths have ( find other flowers 1o
lay their eggs.

- 30a

mitfipade —» contipeds

Blant— Geiterpiiarmems taad > pyllion

% squitrel

30D.

immediate effect : The pepu‘laﬁo}l of squirrel will increase/ remain the same ag there are less
predators.

After some time: The population of squirre will decrease as there is more competition for food /
&s more squirrels consume more plantfood resulting in insufficierit food.

OR |

Population of squirrel will incréase as there are less pythons /predators feeding it. There will bs an

inciease in the-population of loed causing the population of caterpillar to decrease; Sothere is——|

less competition for food (2 animals instead of 3 feeding on the plant),

31a.

Evaporation

31b.

The st aains heaf from thie Surrounding hot alr (m) and svaporates (1m) OR
The surrounding hot air foses heat o the mist (1m) which will svaporate (1m}

1Foa,

As the temperalure increases, the fime takan for the FuTt to 9Pl decreases.

32b.

To ensure that only the femperature of The room affects the resulis of the experimant,

| 32¢.

To reduce overcrowding and reduce the competition for mineral salts fnutrients, water and
suntight.

32d.

The fruit has pod-like siruciure,

33a.

Food-carrying tubes / phioam

33b,

The chioroplasts /chiorophyll was damaged.

33c.

The {eaves cannot photosynthaesisel The leaves cannot trap light to make food.

34a.

The heart pumps blood fo all parts of the body

34b.

Her heart rate Increases. Her heart pumped blood faster/ more blood o transport -axygea and

digested food to the different parts of her body and o remove carbon dioxide/ wasie materials.
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F6b. | The presence of chioropiasts/ the regular shape of the cell the presence of a vacuole:

5o | The nucleus ooniols il e oel aclviles/ cotans genetio pformaior/ contols el dvsion.

%’ | ﬁ?f\\

{
36b. | Digestion of the nutnional rink s carmied Ut In the stomach and small intestine, The digested
__{food gets abserbied by the small intestine into the bloodstream, _

375, | As ihelislanc the car is puled packwards~in¢reases, the distance travelled by ihe car after itIs
| refeased increases / decreases / remains the same,

3o ,(Efésﬁé) Polential Energy s  Kinstic Energy

37c. | All the Kinelic energy had been converted to heat andfor SoUnd energy.

37d. | 13<X <19
37e. | The rubber band had snapped / broke/ gone beytmfi its elastic imit,

38a. | Adorce is 2 push ora pu!l.

38b. ' As the length of the compressed spring decreases, the distance the toy traln moved up the ramp |
‘| incieases.

1 38¢. | The lubricant would reducelths arotnt of iritional force between the toy train and the ramp,

1384, | He shouid pull dcwi_a the handie more tb cam;iress the spring more so that the spring will exert
more elastic spring force to launch the ball to position B,

3% |3units
29b, ;Light travels In-a straight Jine OR Light can be bl ocked, |

39¢. | No. ijact ¥ carinot biock light/ allowed most light:tc paSs.'through. The sensor can detect light
‘passing through the object. OR

'Yes. Some light Is stilf being blocked by object Y 50 the light sensor can detect the differance in
Tight/ less light that passed through.

40, | Choice ~ Pot ¥ ,
Data - Pot Y has a larger surface area In contact with the hotplate.
Explaln - Pot Y gains heat from holplate faster / gains more heat,

40b. | Water loses heat 1o the ice cubes. There is more surtace area af cooi watsr n contact with hotikas
{50 the botlles of water? bottled drinks lose heat faster! lose more heat,




